
Exercise- Self Practice 4A 

 

Solution1:- (a) 5 x 10 = 50    (b) 8 x 100 = 800 

   (c) 9 x 1000 = 9,000   (f) 481 x 10000 = 48,10,000 

   (d) 382 x 20 = 7,640 

 

 

 

 

Solution2:- (a) 6 x 4 = 4 x 6   (d) 49 x 409 = 409  x 49 

 

 

 

 

Solution3:- (a) 21 x 0 = 0   (b) 2471 x 1 = 2,471 

 

 

 

 

(d), (e) and (g) are homework 

 (b) and (c) are homework 

 (c) and (d) are homework 
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Solution4:- (a) (3 x 4) x 5 =  3 x (4 x 5) 

    12 x 5     =     3 x 20 

        60       =        60 

Yes, the statement is true. This is grouping property. 

 

(b) (35 x 18) x 5 =  35 x (18 x 5) 

    630 x 5      =     35 x 90 

      3150        =        3150 

Yes, the statement is true. This is grouping property. 

 

 

 

Solution 5:-  60 tens = 60 x 10 = 600 

   8 ones = 8 x 1 = 8 

   So, 600 x 8 = 4,800   

 

Solution6:-  Place value of 4 in 28,457 =  4 0 0 

   Face value of 4 in 28,457 =  +       4 

      Sum        =  4 0 4 

 

So, 404 x 8 = 3232 
 

 (b) and (d) are homework 

Rough column 

 

404 

      x  8 

     3232 

 

3 



 

 

Solution7:- (a) 90 x 70 = 6,300   (b) 800 x 300 = 2,40,000 

    (d) 270 x 600 = 1,62,000  (f) 150 x 500 = 75,000 

 

 

 

 

Solution8:-  No.of laddoos in 1 pack = 400 

  No. of laddoos in 25 packs = 400 x 25 

4 0 0 

             x 2 5 

           2 0 0 0  

           8 0 0 x 

        1 0 0 0 0 

Therefore, altogether we have bought 10,000 laddoos for Children’s Day. 

 

 

 

 

 

 

 (c) and (e) are homework 

 This question is homework 



 

 

Solution9:- (a) 9 x 5 ___   8 x 6    (b) 1 x 6   0 x 8   

         

 

(c) 7 + 8 ___   8 x 7   (f) 5 + 5 + 5 + 5 + 5 +5  6 x 5 

 

 

 

 

 

45 48 

 < 

15 56 

 < 

 6  0 

 > 

5 x 6 = 30 30 

 = 

 (d) and (e) are homework 


